*

(O,

j/l Vers b /(I-W&W\a'/‘%s

Fo/'WG,p{ /C/an//; f/"j ‘?""iﬁ/’j 7"?/’)'/"160' I’l/o /
11

J4 h’]ul?”ﬂl7 DALQ 1T /9,'

/.'.‘l

)

NS [fetmoamalies ;5 more oA Bhin (1
TAC /.7/,;5/&,. /s tLon /m-w
Gven [ vales of hom.jw(ouj malr/x
e fetet 47 /A fau!/mu.«/ e/uh/fd""—.s
=) Solve 7/&/‘ A Qa k neron s

LS {lo‘lnj'

@ Po SOlatuns CX,s f ?
T Aea m[ o wa//o‘,pazr:_
Keécﬁmé/( Lorkspace — Can be reaches w4 af feag)
One oriemtafp—
Oextroag  wortspace - Con pe resthet coth ciny
Ol1tnfaT104
Dextrons is alvays o scbicd of  rednbic

¥ Wotkspae  pon, also kel bt b Zf/am/ [rin 15

P  <¢ dof - able o Solfa
Tooly taignt  have Aot w07 symi L

near St Splnte,

D ﬂf‘e Fhtre th-////,ol'e ‘Sd/“’//‘d"’-‘ ?

Fof PMMA - [ ke epby f (/ASW)//')

) E“—oz,) b ~ Aown ' 0
g A/m | Lol or Kthnt

00 Solhatirs it Lonst

:> 3 SO/V\JIIO“S



M@f_md? exceek

/[ 0)‘ h/ /I’M’/S

leél%ﬁ&ez—bv;hf Choos<e closes]

)< me r.( )

§C , )(, [ VUSC
(\KWH—LQ&%"P"'P?' N’
o Mefhod 1 o b Gwen
4 ;9

"/p/%z Solvt fur ©,8 ©

_ ] T
160~ ©= %/
O,

7 X law of " cosmes
PRI ATV AR ¥/ A Cos (180 Or)
'/ 0"“),/'1 ‘?pI(_COSQ:)
/, A l-'zﬂ,/_ (05 Dn.
60567 = X'IT‘7L——<‘€I’L7"(11>

2

—————

l, 0.,

7

'1

f_
& - +Co$"/ < Tl? —\{’ ”2

7
-

/

4 Y,

-~

/

}\J('\’ Q.,_SIVI Pl

A

o8

st

91‘1

=&

\/
Ve

J = gtanl CQq $t (- :

D +¥ = aim? {7,x)

ﬂg f [q(()é (97>




25: 0-'{_610’\2' <01 glh(?‘z ) ﬂ; ffa(ﬁ’S ‘9’\/
O +¥ = atm ‘/7,x)

f—

|6,z atan (g, ) = &2 (lsn6: 4+ fycosD.)

T—

a/: @i &, ,
! o &, [. O
2| 0 6, 4. O
3 O 65 © 7]
- oi  -$H:CA; §HiSA A (b
T | $er Coicol —Co:iSh: 4 Ses
¢ | 0o Sok; Co; A
. O O O (
rc_e, ~58, Oa,cgiq b, “58. 0 0,00, | [ b, <58, O 0 |
S0, (6, 0 a,59,| |56, (6, 0 a,50,|| 505 (6, O p
o O | o 0O O | o o O | o
d 0 O | d 0 O | d 0 D |




1

b, -8, 0 aca,| |5, 58 O aco,| [ch, 58, 0 o

SO €6, 0 4,59, | |56, €6, O 4,50,|| 565 €O, O O
O
/

o O | o o O | o o O |
0> o0 | J|o o0 | J]o o0

(8CB-58, 50, ~(0,$8-5B,0, O (D, (% 5B3Butaca) [CB, ~48, O O
Selcel-"celsel. ‘591551'\{9,(9-,_ O alS@,C&"'%CQﬁ&M,SQ 593 CQJ 0 O

0 O | O O O [ O

L © O O | 110 00 1]
\\cfa,wi) -Sée.%-%) O G (01162 )1a,¢0] | €O, ~48, O O
S@iron) C@*0) O GusoreYrass| | Sos 6,00
O O { O O O [ 0o
L0 o o | 110 o0

rc(e#e;ye;-g(@abi\se} «c%a.mqsefs@.wl)c% O 0OxC(090.)44,€8, |
S () D+ CRBYSD, —SOB)SB+CBUBNCE O Gy SO 0.)+4, 56

O O | O
' O O 0 | ]
4 4, -
_ rC e\+91+93‘> ~5(O.+ 9#935 O ax ¢(©,16.)+4,€6,
"1, = [ Seease) 0488 o Qo S(B11 02)+4, 56,
k 0 o | O




X= Lceosd + 0 Cos(é’ 7‘9)

/'{"iﬁl F{_fh/&lfﬁ}

i: ,1c@;10') t 1 Cos /(9/*91) # 'Z}[ Cos P, @5/9 f@z)

L 5i0 £ B0 (0,48) 1 2h by snb 50n(B0 18))

K-‘;‘;)_’f—_: /(,1 + (1 + Z[ 11. Ct)(((é +9) él )

X%y = AT 244, cos Oa
@mf—Cog—'/x *‘1 ‘é( 41 )\

14 X,
| w.
N
-) >< < ’(_l <oy 9, + é,.‘_ (05 9' 60591 - ['L 5“1 9! 5/'54 91
imd :‘/f{: -I-.Afof 9—:\ cos®, - /—Lflw Or $1n O,
1" )y w ~ Y
‘iJ!”‘ i rcos Y r Sy

X= _rcosy<os® — Csmysmby

‘?: /',5/446)’, + 'p1 g/h&,(&jﬁ,_ t j‘)_ (0.59l S/'VIB‘L
= Cf, fu(.,_ 605197_> S 9/ - AS/mﬁz Cog @I
W Ve N ——
[~ wd X S $m ¥
Uz (008 8n + /S ¥ CosO,

7: V\S)M/YT%)TT

7

YO, = a+0’44? Kq,X}

g
| 602 ater (4, x) = atuarn? (A$ubr, € 14 cosbn \

S—

~— iy

)&= &-0,-6- |

l'\___\___//







